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And these two, which possess a spirit of life, are not comparable to fire

OVERVIEW

The 7wn initially teaches us that there are 1p°13 m2aX 7. It then continues that these
Max cannot be derived from each other; beginning with 7v2»1 7w, that one cannot
be derived from the other [for each has a X7 which the other is lacking (without
specifying the M »I1)]. The 7awn continues that WX cannot be derived from W
1vam) because it has no 0»11 M7 (it does not state however whether 779211 MW can be
derived from wX). It concludes that 712 cannot be derived from the previous three
since T2 is P17 T2°2 1077 PR (again, it does not state whether the three can be
derived from 712). n190IN will discuss the issues alluded to in the parenthesis above.

mooIn responds to the anticipated question; why the m1wn did not specify the respective n1nm of
7van T, relative to each other, in the first *277 X5.
= NON 95 RIDIND WIDD TN KDY Nyam MY 1)

Concerning v and 7v2» which the 71wn mentioned in the first 121 >777 XY, it was
not necessary for the mwn to identify the severity which 7w and fvan

individually have over each other, as the mwn identified here by vam w

collectively as opposed to wX. The reason is —
= 19%2N2 PPRY 19 TANI 9N NINNDY JP ThNn TNT OIVN

Because when we are attempting to derive one case (77v21n) from one other case
(Mw), it is easy to find a X721 that there is by either one which the other is

lacking. It is not necessary for the mwn to mention them. However when we are deriving one
(wX) from two (7v2m 7W) it is not always that easy to find a common &1 by the two which the
one is lacking.! Therefore it only mentions the X771 of 7vam 7w (together) relative to Wx.

mooIn anticipates a difficulty:
= ¥32) YN 19N YN 19N RY XN %N XYY XM

And the reason that the 71wn does not teach here that X is not similar to =

mYanY and therefore van 7w cannot be derived from WX —
= 99N Y9N0 NYANN 29N XY DIyY NPT

As it taught previously that (just as nyann *970 MWwn 0 Ko, similarly) "7 K
MW O AYART. Why here is it one sided, just Wi 375 71 A7 XY and the 7wn does not add

"t is necessary to find a common X1 by the two; otherwise the third can be derived from the two through a 7%
mwi. See ‘Overview’ to previous X? 71"7 mvoN.

1

TosfosInEnglish.com



X?17"7 '0In R,2 P2 .7"02

YN MW 2D WRT 7T RN?

N1B0IN answers:
- DIV PRY D19 NIDIN NI¥nAY 919> 150 XYY DIUN

Because the Xin of the 71w could not find a X1 by WX, which is lacking by

both 7vam ~w. It is simply incorrect to state 7v2m MW > WX 77 XY, If the 770 would have
written only WX, we could derive that 7v2m1 7 is 277, from WX.

mMooIn attempts to find a wX2a XA which is lacking by 7y 7w and rejects it:
- Y99 19 Nyt 990 PR 12 29919 NN NOT DIV INT

For if the X7 of WX would be that there is another (external) force (the wind)
mixed in it, and it does not travel consciously as it is by the ox. moonn is
suggesting that this is a X717 of WX. An ox is somewhat predictable. It moves at will; while WX is
uncontrollable, for the wind may push it in any direction.” We would therefore not be able to

derive vam 7w from wx. The original question remains; the 7wn should have stated WX °77 XD
aY2RT MW T2,

mooIN negates this idea:
- MYaN YN 1IN %33 “hY YN K9 ‘Nmn At PN

This is not considered a X7217; for the X712 does not mention this X217 of X 12
12 27vn when it is discussing the X717 of WX over "W (rather it mentions another

XM [which is an%nnn Ny 1w which is not applicable to 7van). The mawn cannot therefore
state avanm Wi 2770 WRT 0T RY; for there is no WR2 XM over yany Nw.

Moo questions this assumption that 12 2MY» MK 113 is not a XIMM:
- 435909 99N %) (v M3 MPY 19999NT XY

And that which the X713 states later concerning one’s stone and one’s knife -
- YnYTY 7990 PPN 2 3PN INNR NDT YN NIY INN

Why is this different than wx where there is a 12 2799» 918 12 and it is not 777

? Seemingly n2oMN is now assuming that 7w MY are 937 1@ (according to Yxmw). However, the same will apply if
QXA A7 7van (according to 17).

? Therefore if the 70 would have taught us that only WX is 21 and not M, we would not be able to derive MW
from wX. We could argue that by wx, the owner is 21 for his negligence since there is a 12 27Wwn InXR 113; it is
unpredictable and should be watched carefully. However by 71w where 12 27v» 71X 12 7K and is more predictable,
the owner should not be liable, since there was no significant negligence.

* See “Thinking it over # 1. See footnote # 9.

* R, 1%

% The x7m3 there is explaining that if a wind blew someone’s 1’201 12X, and it did damage (in flight), the owner is
2>°1; for this is a WX 77210.

7 In our texts, the words 1¥7> 7917 1K1 do not appear. Perhaps this is M990 explanation of 12 272 K M.
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1NYT9?! This concludes the X3 there. Seemingly the X3 intends to say that just as WX is 2n
since there is a 12 27Wn X 119, so too by 1°901 12x. This would indicate that 12 2717 X 13 is
the ‘cause’ and the X7 which makes 211 w& and should therefore also ‘cause’ 11°201 112X to be
2>°11. This is in contradiction to what N19010 just stated that 12 27Y» X 713 is not a X!

N1B0IN answers:
- 12 2799 NN NIV 29 YY GNY YUK NIY INMI MNP 291

This is the meaning of the X n3; ‘why is this (11°001 112X) different than wx, that

even though there is a 12 27¥» 91X 12, which is a X9 and should seemingly exempt WX

from payment; nevertheless —
=915 959D 139919 NINY DIYN 12 39NNNY NI

It is fitting that one is liable for his fire, since it is your money and you are

responsible to guard it’; similarly by 1207 13X, even though it is 12 2Mw» AR 13,
nevertheless you are 2°°11 since it is T2y 1w 7. The answer of MdoIN is that 12 27WnH IR 1712
is not a cause for 21’:‘:,8 but rather a cause for 11U9,9 and nevertheless WX (and its M7721n) are 20
since it is T2V INHAWY TNRN.

mooIn anticipates a different question:
= 19N 99N PNV INMVY NINNY NN 291 XY 919910 281 71N 992 »2) NOYDI)

And in the X9°0 of this 71w» concerning 712; where the mwn states that M2 is
lacking what all the three other maX possess; the 71wn could have said a X1 by
712 that is lacking by the other three, namely that 712 is not comparable to the

others since from its initial inception it is predisposed to do damage; it requires no
additional action, whereas by the other M2aX their initial creation is not for damage, unless it is
followed by additional action of the P 1 itself. If the 770 had written only M2, we could not
derive from it any of the other nax.

mooIn explains why indeed the 7wn did not mention this X117 and allow a dual *371 X% by m
similar to the 7v217 >77 MW 17 XY
- YNA D090V 29D WN XM

And the Xin was not concerned to mention this X1, since he already

interrupted this pattern by WX. By wx there was no dual ™7 X7, therefore the Xin
discontinued the dual *777 X2 by M2 as well, even though it was possible to state it.

MooIN anticipates a question on the previous answer and resolves it:

9w mx M is a X7 in relation to W who is 1ny72 7731 However 12 2719 0k 112 by WX is a X1 relative to
713, which is P>1721 72°% 1977 PX. (See 0"1nn). See ‘Thinking it over’ # 2.

’ By wx the damage is caused by external factors, for which the owner should perhaps not be liable, as opposed to
7w where the damage is caused totally by the W itself.
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= 11929 UN NN %1 )9 OXT YN NP MY N8 XD MY
And the Xin did not wish to mention 212 before @R in the 71 XY sequence (and
had he done so he would have been able to state a dual *777 X% by M2 as opposed to
17vam M), for if he would have done so (to state 7v2» 7w and 2 [in that order] in

the »11 X% sequence), then wx would be derived from these three (1121 van M) and
there would be no *177 &% at all concerning wX.

mooIn supports his statement that WX can be derived from M21 7yan Mw:
= (3,797 N9)2 1929979 7301 TN M0 *HN 194

As we say in the X723 that all the 1°>°71 N12X can be derived from a combination
of 712 and one of the other max with a mwn 7x.

mooIn anticipates and answers the following question; Why is it so necessary to mention a 177 X?
concerning WX as well? mdoIn explains:
= YN NNN INHNY PIND NN

And the Xin of the 71wn chose to elaborate and mention all the M2aX '7 (including
wX) in order to increase and glorify the 71n."

mooIn has a different question:
- a0 90 1900 PYUNYT YPURT AUP NP

And there is a slight difficulty, for it appears from this 71wn that there is

monetary punishment for certain damages whose origins are derived by logical

inference and are not stated in the 770 —
- 19Y 93 XY 799950 5¥ 29N NNINDN YY BN 1995 31 NND? %3 NN PnYanay

However we have learnt in a Xn>>72 in the Xn%"n: the 770 writes ‘if one will
open a pit or if one will dig a pit he is liable for damages. The Xn»92 asks if one is
liable for merely opening a covered pit then he is certainly liable for digging a
new pit! Why was it necessary for the 7710 to state 712 °J after the 77 already taught us that °2

nno° is 2»°1?! The ®N*92 answers:
= P11 912 10 PUNY PRY 7YY NN

' The xin wanted to include all the Mmax '7 in the *171 XY, therefore it placed wx before ™2 in the *7 XY sequence
(even though this sacrifices the dual *177 XY concerning 112). See R"w7n.

" The various ™11 8 of the mwn indicate that we cannot derive one 2x from another because of the various N1,
This indicates that if not for these various M m11 we would derive one from the other by logical inference (in fact the
X713 states that we can derive all other maX from 712 and any other 2X). This seemingly contradicts the ruling of X
7T T TR WY

'2 A marginal note indicates that this should read xn%*3m21 (which is a compilation of %97 and MN™2 on MAYW WAIM).
5 The expression 1777 11 (17n) Pwy R seemingly relates to something that is derived from a 7mm p (not a 11°%¥n
or a mw: 7¥). It is not clear whether the *771 X% of the mwn is negating a1"p or a 11°¥n . See 1 MK *"92 and 7"nK.
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But rather the purpose of stating 7172° °J is to teach you that we cannot mete out

monetary punishment based on logic alone. There must be a 709 in the 7710 that

requires monetary punishment for this specific type of damage. There seems to be a contradiction
between the X021 and our 7awn.

mooin offers a possible solution:
= NIINN AYITY N9D WY (w1 3,00 nps) NI9N P93 1190)

However in 779957 99 the X72) interprets this 2105 of 71712 °3 for a different w27 -
=19 ANA 11999 ANIND POY Y
That the obligation of payment for a 712 is caused by his involvement of opening

and digging the ~12; but not on account of his ownership.'*

nooIn offers a different 7w17 on the words 7172° °2:
(019 171 3,7 1Y 7Y 1) $ (XN p9) YWND AYYN PHIOYW N9 9NN N9 N*ANY IN

Or that the 772 *> 7109 comes to include a digger who comes after a previous

digger; where the second digger removed the actions of the first digger. "
According to these last two mwA7 there is no rule of 1777 12 1n WY PR, and (perhaps) the Rin of
our 7wn follows that opinion.

SUMMARY

12 27 IR 12 is to be considered as a X7 by WX (relative to ).
The other three MaX cannot be derived from 712 since 115 10wy NoN.
The (purpose of the) *171 R in the mwn is TR 710 705.

Our 71wn maintains 77 72 7772 WY,

THINKING IT OVER
1. moon originally argued that 12 27w» X 13 is a XN of WX (relative to M), but
concludes that it is not.'"® How can we explain the X"y and X1pon of maoin?'’

2. Moo maintains that when the X7 states 12 2Myn IR 1707 WX W', 1t means that
12 27Wn MR 10w 9"YR (indicating that it is a X??). Why can we not maintain that 1>
12 27Y7 MK is a X (in general); it is just that in relation to "M that it is a X9p?!'®

" This teaches us that you are 211 for a 7";772 M2 even if you do not own it; but merely for digging it.

'3 This is referring to a case where the first digger dug a M2 less than ten 2°mdw (which cannot kill) and the second
digger completed the 712 for a depth of ten a’ndv. The second digger (alone) is 2711.

1 See footnote # 4.

"7 See footnotes # 3 & 9 11 NIX DI °27 WA,
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3. The 8n>°on states that since 1°77 12 10 PR PR, therefore if the 7710 would not
have written 77712 2 we could not derive it from 1no *2. Seemingly when he 1s 773
the 712 it is the equivalent of rno> °3; he should be 21 on account of nn®”
(without any o)1t

4. According to the Xn?°>» who maintains that P77 12 1% PWW PR, why is there a
PPown 20 by the m7n?*°

18 See footnote # 8, "7 MR >"a.
¥ See 7971 5y 7" 1N2 2,01 1P KWL KA RITIN.
% See mwn nom.
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